10. Use the given transformation to evaluate the integral

//-r@dfl where R is the rectangle enclosed by the lines z —y =0,z —y=2, 2 +y =0
< we3
and r +y = 3. osved of z

X-y=0 — V=o© A= | 7| Audv = /_EJA«;AA/ ~ L dudv l

e Xy2 — vez S S B
T (f:f)(w) Xty=9 — u=o J= e v %(4, 2w _ 2
D
v ___L g uvﬂ{Vp(M LS/‘/ a.v/ v=2 % Y
2 L y‘ V=0 .

2 o _L,—L_3

gézw>ﬁ ,L(—-e-w =J.-1

w
3 -
R
U= X*\I

\-

~—V

+ _ 2x ox 1
vy ~ 2 . ke b
L= Ax = %= 4 (uw) oy @ "
ou (2

u-v= 2y = \/—,j_-(u-v)

New Section 1 Page 1



6 4 3
[ (hopdade- (62 Syt

10. Use the given transformation to evaluate the integral
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9. Evaluate / / / ze™ TV +2° gV if the E is the solid that lies between the spheres 2 + y% 4+ 22 = 1 and
. E
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8. Use cylindrical and spherical coordinates to find the volume of the ice-cream cone bounded above by the

‘ , . [x? + y?
sphere 22 4 y? + 22 =4 and below by the cone z = V=5
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7. Convert the integral
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6. Evaluate [/ / y?22dV, where E is the solid bounded by the paraboloid = 1 — y? — 22, and the plane
E
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Evaluate f / / yzdV
S E

2+ y2 = 4.
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4. Find the volume of the solid under z = x*y and above the triangle in the (zy)-plane with vertices (1,0),

(2.1), (4,0). oz £x17
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3. Evaluate the integral / f (z% + yz):'}/ 2dA, where D is the region bounded by the lines y = 0, y = /3,
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y—axig
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2. Evaluate the integral // (zy + 2z + 3y)dA, where D is the region bounded by z =1 — 3%, y =0, z = 0.
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Math 251/221 WEEK in REVIEW 8. Fall 2024
Review for Exam 3.

S|
1. Calculate the iterated integral e’V dy dx by reversing the order of integration.
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